Bode Plots
(more examples)



Example

G(s) = (i)2 +205-+1 (wn, ¢ positive)
20logq |G(jw)| = 201log,, ‘( ) + QCW + 1]
At low frequency = 201logy, \1\ =

At high frequency = 20 logy, ]( ) | =

Two lines meet at w = w, (break point)



Example

G(s) = (£)2 + 20 + 1 (wn, ¢ positive)
LG(jw) = Z((£2)? + 2¢L2 4 1)

At low frequency = £1 =

At high frequency = £(22)? =

Wn

At frequency (w =~ w,) = Z((j)*? +2¢j+1) =

Two lines are connected by a third line at w = 5% and w = 10w,



Example
G(s)=s*+2s+1 (w,=1,(=1)
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Example
G(s) =s24+025+1 (w, =1, =0.1)

Bode Diagram
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Example
G(s) = (= )2_|_12< 7 (wn, ¢ positive)

20 1OglO ‘G(]w)‘ - 20 logl() ‘ (j_w)2+12<j_w_|_1‘
At low frequency = 20log;, || =
sl =

At high frequency = 20log,, |

Two lines meet at w = w,, (break point)



Example
G(s) = (WL)Q+12CWL_|_1 (Wn, ¢ positive)

) 1
LG (Jw) = L(Z)—Z)QHC%H

At low frequency = Z1 =
1 _
(22)2
1

At frequency (w ~ wy,) = L oyTae T =

At high frequency = /£

Two lines are connected by a third line at w = 75 and w = 10wy,



Example

G(S) — 324_%54_1 (w’n =1, = 1)

Bode Diagram
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Example

G(s) = SQHSQSH (wp, =1, =0.1)

Bode Diagram
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Example
G(S) 4082(8—2)

— (s—5)(s2+4s+100)

20 logg \G(jw)\ —



Example

G(s) — 4052 (s—2) . (4/25)s%(0.55—1)
(s) = (5-5)(s2+45+100)  (0.25—1)((s/10)2+2(1/5)(s/10)+1)

LG(jw) =



Example

G(s) = 4052 (s—2) o (4/25)s%(0.55—1)
— (5s—5)(s24+4s5+100) — (0.25—1)((s/10)24+2(1/5)(s/10)+1)

Bode Diagram
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